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Reg. No.

III Semester B.A./B.Com./B.B.A./BCA./B.Sc./ BHM./BVA./Degree Examination,

March/April - 2022
ADDITIONAL ENGLISH
Confluence - IIT
(CBCS Scheme Freshers & Repeaters)
Paper : III

Time : 3 Hours Maximum Marks : 70
Instructions to Candidates:

II.

1. Answer all the questions.
2.  Write the question number correctly.
. SECTION- A

Answer any Five of the following in One or Two sentences each. (5%x2=10)

1. Mention the different stages through which people were separated in the poem ‘let’s
unite’. '

2. Who burnt down the schools in Swat?

3.  Who does ‘we’ refer to in the poem “Let’s Unite?

4. What is the wreckage that the rain leaves behind in the poem ‘when it rains in
Dharmashala’?

5. What was the goal of Yasodhara’s husband?

6. What was the question for which her mother got puzzled in the story ‘The Other Side
of The War : A Story?

7.  What was the nationality of the oriental couple in the story “Wilshire bus’?

Answer any Three out of the following in a paragraph each. (3x5=15)

1. Describe the incident in Esther’s past. Why does it disturb her greatly”

2. How did Malala express her gratitude towards her parents?

3.  What factors have divided the world according to the poet in the poem ‘Let’s
Unite’?

4. Write a note on the love and care shown by Yasodhara?

5. Comment on the nature of effect of the rain on the room with reference to ‘when it
rains in Dharmasala’? * ‘

6. Write short note on The Story ‘The Other side of the war’?

[P.T.O.
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ITI. Answer any One of the following in about two pages. . (1x10=10)
1. What was the message that Malala tried to convey in her speech?

2. “Iwantyouto know, he said, that we aren’t like that man. We don’t all feel the way
he does”. This sentiment expressed by a fellow passenger can be a way forward to
fight racial discrimination. Explain.

3. How does Yashodhara express her love and resignation? Discuss.

SECTION- B
(DRAMA) - CHITRA
IV. Answer any One of the following in a paragraph. 2 (1x5=5)
1. ‘Write briefly about Chitra’s experience in the forest.
2. Why are Chitrangada and Arjuna, an example of true love?
3. How does Chitra stand for a common woman in the play.

V. Answer any One of the following in about two pages. . (Ix10=10)
1.  Tagore’s Chitra can be compared to a modern women. Discuss.
2. How does Tagore present the sensible and revolutionary ideal of women in the play
“Chitra”?
‘ SECTION- C
VL. a.  Write a caption for the following picture. (2x2.5=5)

b. BESCOM has advertised in the Times of India newspaper asking interested
candidates to volunteer for a drive to Save Electricity. Prepare two captions for it.
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VII. You are starting a new computer training centre. Design a leaflet, advertising your

new venture. (1x5=5)
VIIL.Write instructions for any One of the following. (1x5=5)

1. Applying for a bus pass.

2.  Operating a mixer grinder.

3. Planting a seed.

IX. a. Readthe following paragraph and draw a diagram of your choice. (1x5=5)
Morphemes is the linguistic field of study. It is the smallest linguistic unit with a
word that can carry a meaning. The study or morphemes is called as “Morphology™.
Every morpheme can be classified as either free or bound. The bound type is
further classified as prefix which is the initial position, Infix which is middle position
and suffix which is the final position. The last category of suffix has three types
namely Derivational, Inflexional & bound base. The derivational category also has
sub - category of class changing and class maintaing.

(OR)
b.  Write a paragraph summarising the folloiwng diagram :
Shredded Weo(iﬂ: [ woundon | washed
Pulp | x¢cels
cellulose threads [ Dried on
J . formed ] 5 heated rollerJ
dissolved in ‘ [ forced through 1[ woundon
sodium a spinneret in | a bobbin-
{ Hydroxide dilute sulphuric
L acid )
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ITI Semester B.B.A./B.T.A./M.B.S. Degree Examination, March/April - 2022
SANSKRIT
Arthaniti in Mahabharatam and Swasthya Samrakshanam
(CBCS Semester Scheme 2019-20, 2020-21 and onwards Freshers)
Paper - III ; :
Time : 3 Hours : Maximum Marks : 70
Instructions to Candidates:- 1)  Answer in Sanskrit/ Kannada/English.

2)  Answer Question No.1should be in Sanskrit
only. :

I. wiei s e foreml (10x1=10)
R003Re GogTHRy, GOX WI0RD.
Select and Write the correct answer.

1) i vl AEeRa |@?

| ) SmEEn - an) Frow, 3) TR ) WeE
2) usmaE: 3f wEE: T w7

31) T ) WUEAH, 3) TS 3) TENRAY
3) HUIGUEA: W ?

- 31) SviE: 3n) =Awa: 3) SeHiten: 3) Yhram:

4) ATfigAE3E %: WS A G ?

) TAEER: - 31) =N 3) mTeE: 3) Ugat:
5) g fadmu Heyd wHreRy ? _

) Ty 31) =Ny %) Ay 3) W=yl
6) o swem w7 BT Sel

1) R an) e - 3) 9 3)

[P.T.O.




TR R @)

7) wEET % g ? < ‘

) TIEU ) & 3) wiforn
8) em R o We?

1) P ) FREETER  3) W
9) TEW:E:?
' H) GEOHR: 1) a=; 3) gt
10) <Hrgon: ocw: Sraeer: WAl ? :

) I RIGH 3) gEe:

II. za: wya: wea foreml
@dc%abd 203 Tog wBewd.

Write an Essay on any two of the following.

1) et Persresarel
a’eada'os:dd BOTON TROPRPOTI, WTCWND.
Write an Essay on Maharshi Veda Vyasa

2) FEMRAWEEE TeRiesEr EuE

é)ga@ﬁ

3) &=

3) Rt

BBGRTITIT RS BDOTOT DRONTJTZY, RO

Explain the polity according to Mahabharata.
3) vEREHRERE TERES ol
STVEITS DOFAN a)_jzwoqﬁﬁreocﬁabo1 2300.

Write an essay on Mahabharata.

T s yeivemi o smars frfres awad Rrul
O3RRTRT3R FRTy RN, VWA DWOA.
Translate and Explain any three shlokas.

1) woriusERi: SHasEied: | - .
T T SRR TEEhg SEre: |

35305

(2x10=20)

(3x4=12)
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2)

3)

4)

5)

Hha, TIMERAIOTRG 7 Wit ae:]
sfrea siee: @ wieafx g
Sufer & =g ¥ Mo
Ty e T s

 SUSAT T WG SISt |

RN SREY: T Stereaen|]
Fat g Shaf gan: g
AENRTRENTY Sife gvreeeni |

IV. gat: =reaat: wasd Ry
RTW TFENTRL, TOTHE T ITD2.

Annotate any two of the following.

1)
2)
3)
4)

V. @)

T HH FEd T ge e gl
FeETEll gea wHive 7 R
A A VR TEEly e
Tl A TR I G TR

e v e
20T, OB TJog wIoND.

Write an essay on any one.

1) engdqER ‘smErRugh el

3030 F AT ‘Bmdwc’&)@’ 20ToN 20TCWH.

35305

(2x4=8)

(1x10=10)

According to Ayurveda write an essay about food system.

[P.T.O.
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2) mEfaw wrE-vieeE = age qulh]
SOROTODTY 79,523 DBITD, BeBFR0,

Explain the importance of Snana and Shancha with regard to health.

an) gat: wyfewoff Rram) (2x5=10)
NORY, BOBD OFH W[ 2wBowd.

Werite short notes on any two.

1) womEm:)
2) I wgEm|
3) sweEEm)

4) Fu-faEm
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III Semester B.B.A./B.B.A.M. Degree Examination, March/April - 2022

T3 PR
338 Fom TS,
(CBCS Scheme Freshers)
Paper : I

Time : 3 Hours Maximum Marks : :70

L 20 Iz qﬁ@ﬁ SR STNTY, GUSDA. (5x%2=10)

)
2)
s
4)
5)

6)

7)

8)

SODFE, BNTY FTB RN BPINTY, VeSTMOT]S ?
TR, ERG W OWEF TePT BBoNEH o3RIy ?
MOQe TR 0w %ﬁda‘ﬁa&ics R Berk 9

‘mEort SHJCD - TOTBON' 0L BOWL BRI ?

WNT 5&;50335% TOWON HOQTONAT RoWIe BRYTO ?
mﬁéog éd DS ATNWBOTOD o™ m@ﬁeﬁ\o QIR ?
VTBOBO BIVPNROGTOT TN BY RO ?

303090, T, eTO 3PN TBIKNIT ?

[PT.O. .
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IL SO, @%ﬁ@ﬁ BB WTNYY, YVSOA. (4%x5=20)

1)

2)  33B k3B, IR B LDERRTTD FeOTROE IO TB.
3)  BS 8IS WO - Thwd! IBIRY,
1) exm SxPner S ZoTARGSE: Sorems SSTOS.
5)  mRas Towad 3,83,
6) BoBRT Y TOOD,
L S0t B3Rk az) w8nvd, ugos. (3x10=30)
1) Smrisce, cascd dortiatoe AR SRS ©.3.7, BHid Hednvm)
DR
2) TOERN, WD OB @i;srmaa“u’m%f%aﬁ WHR I YVTORTHNG RROT 23R3F .
3)  Sousb IR MULBERoTR) MUISOR TYRT Beod L TaDO, FBDFA.
1) Cemnt @I BEN’ DIk AgWI0S, B IR FBoRITCE 2 Wi,
5) A3 mhe B0’ TOE MIRERY IN0R.

TR TRITLOT TT W 3R Dbz 3063,
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V. 28R I3nen 32 Eneg evson. (oo =g,)

1Y)

2)

3)

4)

(z¥5=10)

emab‘acS‘ew"“ WD ma&%csm oi:einaomriw %5&32}:5 2082 aa&‘;od:?o WO,

‘NP B30’ 3Rm S)&%aﬁoab zifaefﬁ,\oéd‘ 2323 Q.
$0.0 EReAny f&émﬁaﬁ;&g{ 30X

AMT'IE &7 Ron® T,03ReRTA BRR) 7
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I SemesterB,B.A./B.B.A.M./B.HM Degree Examination, March/April -2022

HINDI
Natak, Sarkaripatra Aur Sankshepan

(CBCS Semester Scheme Freshers and Repeaters 2019-20 Onwards)

Paper - I1I

Time : 3 Hours . Maximum Marks : 70

L

II.

IIL.

frefifes Tol & T TR wee W US Wy ¥ ReRww- (10x1=10)

1
2)
3)
4)
5)
6)
7
8)
9

Tl % 9 Wl AN @ Hee e forg fien ane
<R T3 BIgHT Hal <A 1?7

T AT A 22

<l WS o W 4 foban vt et 92
Thr formeht 3t ofit?

o it A e el wrg W an @ e
AR A WU | 6 9 EH Y R ?

a1 Tl HIT ST Shi T gl A 37
ey g 3 e B g R A ehve

10) “sueht 7@ % =’ AEH % TWAHL HAE?

fe=di & =1 "ed wfem = Hif:- (2x6=12)
1) @ wem € B A i SR srEreT g W ¥4 o S|

2) DU M A Seieh Wil B et W, # Al 3Tk St Sk HEEH % AR | A= @ A’
3) s U T ¥ o e i e , e e e § 9wt 327

4)  “‘IEER IO T EN A F TG T % T W S W E

“ameft T % W AeH W AR forge sueh fvwarsdt W ymmw stewl” - (1x12=12)

(=)

R W e Sk

[P.T.O.
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IV. feft o w ool fifem:- . el (1x6=6)
1)  weri ‘
2) =

V. = feem- (s @) (2x10=20)

VL

1) mﬁﬁaﬁﬁmﬁraﬁrﬁwéﬁgﬁmm,wm%wuﬁm%m&m
ﬁmm@aﬂzﬁ@mmw%ﬁaql

2) SuafE, W TEem, W-m;ﬁaﬂ?ﬁaﬁméamﬁm%ﬁa‘fa%@
W%@qﬁaﬁum(ﬁﬁm)ﬁﬁmﬁ%mmmmaﬁwal

.3) uﬁqm,wﬁ%m,émmﬁmﬁmaﬁaﬁiﬁgaﬁmm,%ﬁmaﬁ@oﬁqﬁ

aﬁag@ﬁwwﬁ@mmw&m%ﬁql

w0 G- (1x10=10)

ﬁ@mﬁﬁéﬁmmmmqﬁ@ﬁmm%mmﬁwmﬁaﬁnm@wmq
élmm%lmmmmﬁmmmm%!mmmmm
Mwmﬁga@wmﬂﬁw,mﬁ@ﬁm%mwﬁmmﬁ‘éﬁlﬁﬁmﬁ%
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Reg. No.

III Semester B.B.A. Degree Examination, April - 2022
BUSINESS ADMINISTRATION
Human Resource Management
(CBCS Scheme Regular 2019/2020 Batch)
Paper: 3.4

Instructions to Candidates:

L

Answer should be written completely in English only.

SECTION -A

Answer any Five. Each question carries Two marks.

a)
b)
c)
d)
€)
f)
g)

Define HRM

What are the objectives of HRM?

What is job rotation?

Explain the uses of job analysis? '

Name any two intjcmal sources of recruitment.
Write any two objectives of training?

What is right sizing of workforce?

SECTION-B

Answer any Three. Each question carries Five marks.

Explain the importance of Human Resource planning.

Explain the benefits of training to the employees.

Explain the objectives of performance appraisal in detail

What is transfer? Explain the reasons for transfer.

Maximum Marks : 70

(5%x2=10)

(3%5=15)

[P.T.O.
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SECTION-C ' '

Answer any Three. Each question carries Fifteen marks: (3x15=45)
6. Explain the external sources of recruitment. '

7.  Explain the steps in selection process in detail.
8.  Explain various methods of training.

9.  Whatis performance appraisal? Explain the process of performance appraisal in detail.
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Reg. No.

ITI Semester B.B.A Degree Examination, April - 2022
BUSINESS ADMINISTRATION
Financial Markets and Services
(CBCS Semester Scheme Regular )
Paper : 3.5

Time : 3 I-_Iours Maximum Marks : 70

Instructions to Candidates:

s

All Answers should be legibly written in Enlgish only.

SECTION - A

Answer any five sub questions of the following. Each sub question carries 2 marks.

a)
b)
c)
d)
c)
f)
g

(5%2=10)

What is money market?
Expand UTI and ICICIL.
What is credit rating?
Who is a merchant banker?
What is underwriting?
Who is a Depository participant?
State any two objectives of the National stock exchange (NSE).

SECTION - B

Answer any three of the folldwing questions . Each question carries 5 marks.

(3%5=15)

State any five features of a good financial system.

What are the functions of money market institutions/any five).

What are the different kinds of leasing?

What are the causes for delisting of companies?

[P.T.O.
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: SECTION - C

Answer any three of the following questions. Each question carries 15 marks.
(3x15=45)

6.  Explain the functions and working of EXIM Bank.

7.  What is a Mutual fund? Analyse the various factors to be considered for selecting a
mutual fund.

8.  Explain the various functions and steps involved in a public issue.

9.  Explainin briefthe functions of the stock exchange.
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35321

IIT Semester B.B.A Degree Examination, March/April - 2022

BUSINESS ADMINISTRATION

Corporate Communication Skills Part-1

(CBCS Scheme)

Time : 3 Hours

Instructions to Candidates:

Maximum Marks : 70

Answers should be written completely in English Only.

SECTION-A

Answer any five sub-questions. Each sub-question carries two marks. (5%x2=10)

1. a)

b)

g)

What are business letters

Expand the following

i), PET

ii) SMS

iii) CV

iv) WWW

Give the meaning of communication.
What is ethical dilemma?

What is selective listening?

State any four advantages of zoom platform.

What is public speaking?

[P.T.O.
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SECTION-B |
Answer any three questions . Each question carries five marks. - (3x5=15)
2.  What are reading skills. Explain its importance.
3.  Giveanote on the following
a)  Grapevine communication.
b)  Whistle blowing.
4.  Explain the advantages of business letters.
S.  Explainany two types of presentations.
SECTION-C
Answer any three questions. Each question carries fifteen marks. (3x15=45)
6.  Explain the various types of communication.
7-. Explain the advantages and disadvantages of the following.
a) Facebook
b)  Google hangouts (Hangouts)
c) Blogosphere
d) Skype.
8.  Explain listening barriers. How to overcome these barriers

9.  Whatis ethical communication? Explain the features of ethical communication. Discus its
advantages.
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Reg. No.

III Semester B.B.A Degree Examination, April - 2022
BUSINESS ADMINISTRATION
Business Data Analysis
(CBCS Scheme Freshers)
Paper: 1

Time : 3 Hours Maximum Marks : 70

Instructions to Candidates:

Answers should be written completely in Enlgish.

SECTION-A

1. Answer any five sub questions of the following. Each sub question carries 2 marks.
(5%2=10)

a)  What is Inferential statistics?
b)  Give two examples of secondary data.

c) Listoutany two uses of percentage bar diagram.

d) Given n =30, ) xy=244, variance of x and y are 15 and 18 respectively. Compute
the coefficient of correlation.

e) IfY=45andZ=48,calculate .
f)  Whatis probability?

g) Name the types of Hypothesis.

[P.T.O.
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' SECTION - B

Answer any three of the following questions . Each question carries 5 marks.
- (3x5=15)

2. Prepare a bivariate frequency table from the data of 20 students.

Marks in Business Data: 10,10,11,1 1,12,12,12,12,13,13,13,14,14,14,14,14,14,15,15,15
Analysis

Marks in Accounting : 20,20,20,20,21,21,22,22,22,23 23,23,23,23,24,24,25,25,25,25,25

3. Two Judges were asked to rank eight contestants in a cooking competition, and the ranks
are as follows

Contestants: A B ¢ D+ B R £ SR
Judge X : 1 3 2 7 6 4 5 8
Judge Y: 2 1 4 8 6 7 3 5

Calculate the rank co-efficient.

4. Given the following information, X =130,y =134,0x =5, Variance of Y= 24.5 and
correlational co-efficient = 0.8. Calculate.

a) The two regression lines.
b) The likely estimate of x wheny = 80 and of y when x = 50

5. A sample of 50 provided a sample mean of 14.2 with standard deviation of 5. Test the
hypothesis that the population mean is 15 against the alternative that it is not equal to 15.
The cutoff Z value at 0.05 level of significance is 1.96.

SECTION - C

Answer any three of the following questions. Each question carries 15 marks.
(3x15=45)

6. Calculate mean and median from the following data. :
Nomion: 10, 20, -3y A6, & 6 . T,

Frequency: 230, 206, 176, 136, 86, 46, 26, 6
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7.  Following are the runs scored by two Batsman A and B in 10 Matches. Find who is a
better scorer and who is more consistent. '

A: 11k-32, 10, 46, 9. . 55 17, 23, D, 24
B: 167, 22, 50, 106, 23, 18, 95, 18, 66; 26
8.  From the following data.
a) - Calculate tw§ regression lines
b) Estimate the va;lue of x, when y = 74 and valve of y, when x = 46.
¢) Compute the correlation co-efficient by using the two regression co-efficients.
X: 40, 48, 52, 68, 72
¥ 20, 24, 28 36, 52

9.  What is sampling? Briefly explain the different methods of sampling.
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Reg. No.

III Semester B.B.A. Degree Examination, April - 2022
BUSINESS ADMINISTRATION
Corporate Financial Management
(CBCS New Scheme 2019-20)

Paper: 3.7

Time : 3 Hours Maximum Marks : 70
Instructions to Candidates:

Answers should be written completely in English only.

SECTION-A

Answer any five sub-questions. Each sub-question carries two marks. (5%2=10)
1. a) ExpandEBITand EPS?

b) Define pay back period?

¢) Whatis working capital?

d) Whatis Business plan?

e) Define time value of money.

f)  Whatdo you mean by bonus shares?

g)  Write the types of leverage.

SECTION -B

Answer any three questions. Each question carries 5 marks. (3x5=15)

2.  Explain factors influencing a sound financial plan.

3. Explain the sources of working capital.

[P.T.O.
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4.

Determine three types of leverage from the following information.
Selling price per unit Rs. 10, unit sold 2,70,000

Variable cost per unit Rs. 6

Fixed cost Rs. 3,60,000

10% Debt capital Rs. 9,00,000

If you deposit Rs. 5,000 today @ 6% rate of interest in how many years will this amount
double? Work out by using rule of 72 and 69? |

SECTION-C
Answer any three questions. Each question carries fifteen marks: (3x15=45)
Explain the factors determining working capital.
Explain the objectives of Financial management.

KPMG Ltd has currently an ordinary share capital of Rs. 25 lakhs, consisting of 2500

shares of Rs. 100 each. The management is planning to raise another Rs. 20 lakhs to finance

amajor programme of expansion through one of the four possible financial plans.

i)  Entirely through ordinary shares

ii)  Rs. 10 lakhs through ordinary shares and Rs. 10 lakhs through long term borrowings
at 8% interest.

ili) Rs. 5 lakhs through ordinary shares and Rs. 15 lakhs through long term borrowing at
9% interest.

iv)  Rs. 10 lakhs through ordinary shares and Rs. 10 lakhs through preference share with 5
percent dividend.

" The company expected EBIT will be Rs. 8 lakhs assuming a corporate tax rate of 46 percent

Determine the EPS in each alternative and comment which alternative is best and why?

A choice is to be made between too competing proposals which require an equal
investment of Rs. 50,000 are expected to generate net cash flows as under:

Year Project 1 (Rs.) Project 2(Rs.)
1 25000 10000

2 15000 12000

3 10000 18000

4 Nil 25000

3 12000 8000

6 6000 4000
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The cost capital is 10% which project should be chosen under
a) Pay back period ‘
b) NPV method?




(AT AR 35322

Reg. No.

III Semester B.B.A. Degree Examination, March/April - 2022
BUSINESS ADMINISTRATION
Cost Accounting
Paper : 3.3
(CBCS Scheme)

Time : 3 Hours Maximum Marks : 70

Instructions to Candidates:

Answers should be written in English only.

| SECTION-A
Answer any five sub-questions of the following. Each sub-question carries two marks.
(5%2=10)
1. a) Whatdoyoumean by cost center?
b)  Write two objectives of cost accounting.
.c)  State any four techniques of material control.
d)  Write two advantages of FIFO and LIFO methods.
e) Whatisidletime? -
f)  Whatis traditional method of costing?
g2)  What is machine hour rate?
SECTION-B
Answer any three questions. Each question carries 5 marks. (3x5=15)

2. Mrs. Udaya furnishes the following data relating to the manufacture of a standard product
for the month of January 2022. :

Rs.
Materials 90,000
Direct wages : 60,000
Depreciation of machinery ' 11,500

[P.T.O.
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Power and consumable stores 12,000
Indirect wages at factory 15,000
Lighting of factory 5,500
Cost of rectification of defective work 3,000
Sale of scrap 2,000
Office and selling overheads 39,000
Sales 3,16,000

Prepare cost sheet

3. Medical Aids Co. manufactures a special product A. The following particulars were
collected for the year 2021.

Cost of placing an order Rs. 100

Annual carrying cost per unit Rs. 15

Normal usage 50 units per week
Minimum usage 25 units per week
Maximum usage 75 units per week
Re-order period 4 to 6 weeks.
Compute :

1)  Re-order quantity
i1) Re-order Level;
-1i1)  Minimum Level;
1v) Maximum level.

4.  SriJoshitha finishes a work in 480 hours as against 600 hours allowed. His hourly rate is
Rs. 5. He gets DA of Rs. 16 per day of 8 hours in addition to his wages. Calculate his total
income under halsey (50:50) and Rowan incentive plans.

If the material cost to be Rs. 5,000 and factOry' on cost is recovered at 50% of wages, find
out factory cost under both the methods (i.e. Halsey and Rowan).

S.  Distinguish between traditional costing and Activity Based costing.
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SECTION-C
Answer any three questions. Each question carries fifteen marks: (3x15=45)

6.  The following particulars relate to a manufacturing company which has three production
departments A, B and C and two service departments X and Y.

Production Deptts. Service Deptts
A B C X Y

Total Departmental overheads
as per primary distributionRs. 6,300 7,400 2,800 4,500 2,000

The company decided to charge the service departments cost (ip the basis of the following

percentages: \
B A e Y

X - A0%  30% 20% - 10%

Y 30%  30% 20% 20% -

Find the total overheads of production departments by using the following two methods:
a)  Simultaneous equations method.
b)" Repeated distribution method.

7. BinduLtd. furnish the following information for 10,000 units of a product manufactured
during the year 2021:

Rs.
Material 90,000
Direct wages 60,000
Power and éonsumab’le stores 12,000
Indirect wages - 15,000
Factory fighting 5,500
Cost of rectification of defective work 3,000
Clerical salaries and management expenses 33,500
Selling expenses 5,500
Sale proceeds of scrap 2,000
Repairs, maintenance and depreciation of plant 11,500

[P.T.O.
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The net selling price was R. 31.60 per unit sold and all units were sold.

As from 01.01.2022, the selling price was reduced to Rs. 31 per unit. It was estimated that
production could be increased in 2022 by 50% due to spare capacity. Rates for material and
direct wages will increase by 10%.

You are required to prepare:
a)  Costsheet for the year 2021 showing various elements of cost per unit, and
b) Estimated cost and profit for 2022.

Assume that 15,000 units will be produced and sold during the year and factory overheads
will be recovered as percentage of direct wages and office and selling expenses as a
percentage of works cost.

8.  The following transactions took place in respect of a material item. Prepare stores ledger
accounts using '

i)  FIFOmethod and

ii) Weighted Average Price method.

1 July Opening stock 500 units@ Rs. 20 each
4 July Purchased GRN 574 400 units@ Rs. 21 each
6 July Issued SR 251 600 units
8 July Purchased GRN 578 800 units@ Rs. 24 each
9 July Issued SR 258 500 units

13 July Issued SR 262 300 units
24 July Purchased GRN 584 500 units @ Rs. 25 each
28 July Issued SR 269 400 units.

9. A worker takes 9 hours complete a Job on daily wages and 6 hours on a scheme of payment
by results. His day rate is 75 paise an hour, the material cost of the product is R. 4 and the
overheads are recorded at 150% of the total direct wages.

Calculate the factory cost of the product under:
a) Piecework plan,
b) Halsey planand :

¢) RowanPlan.




